
HW200-20-2
25mm [1"] SIDE MOUNT

HW200-90-2
25mm [1"] TOP MOUNT

HW200-90-2
35mm [1-3/8"] TOP MOUNT

TYPICAL INSTALLATION WITH 
INCLUDED FASTENERS

SCREWS FIT #10-32 OR 
M5 THREADED HOLES

WASHERS FIT M5 [3/16"] OR 
M6 [1/4"] SCREWS

PULL OUT TO MAKE FLUSH
ON BIG TUBES

PUSH IN TO MAKE FLUSH
ON SMALL TUBES

note

A
SEAT MOUNTING BRACKET

drawn by rev.

11/19/2017 M. KOSH

description

technical bulletin

®Bodypoint

D17-1119-01
drawing no. date originated

Bodypoint     558 1st Ave. South     Seattle, WA 98104     USA   tel  (206)405-4555     fax (206)405-4556     www.bodypoint.com     sales@bodypoint.com



MOUNTED UP

MOUNTED DOWN

HW200-20 OPTIONAL MOUNTING UP/DOWN FOR CLEARANCE

44mm
1 23/32"

 

ADDITIONAL 
ADJUSTMENT RANGE

FOR BELT

16mm
5/8"

 ABOVE 30mm TUBE

HW200-20-2
25mm [1"] SIDE MOUNT

A
SEAT MOUNTING BRACKET

drawn by rev.

11/19/2017 M. KOSH

description

technical bulletin

®Bodypoint

D17-1119-01
drawing no. date originated

Bodypoint     558 1st Ave. South     Seattle, WA 98104     USA   tel  (206)405-4555     fax (206)405-4556     www.bodypoint.com     sales@bodypoint.com



5

2

3

14

END-FITTING
(NOT INCLUDED)

ASSEMBLY WITH INCLUDED FASTENERS

TABLE 1
ITEM DESCRIPTION QTY

1 SEAT MOUNTING BRACKET, 20 OR 90° 2

2 SCREW, 10-32 X 3/4" UNDERCUT FLATHEAD PHILLIPS, SS 4

3 WASHER, FLAT, C'sk, M6 4

4 SCREW, M6 X 10mm TRUSS HEAD, NICKEL PLATED 2

5 NUT, M6, LOCKING 2

A
SEAT MOUNTING BRACKET

drawn by rev.

11/19/2017 M. KOSH

description

technical bulletin

®Bodypoint

D17-1119-01
drawing no. date originated

Bodypoint     558 1st Ave. South     Seattle, WA 98104     USA   tel  (206)405-4555     fax (206)405-4556     www.bodypoint.com     sales@bodypoint.com


	Sheet1
	Drawing View6
	Drawing View9
	Drawing View10
	Drawing View12
	Drawing View13
	Drawing View14

	Sheet2
	Drawing View15
	Drawing View19
	Drawing View20
	Alternate Position2
	Drawing View27

	ASSEMBLY
	Drawing View11


